IE

1=19
=

&=t 27t ¢lo)o]

FRIIZE &5t QICH

|

M3

, SEol

| S
=0

k=)

EJHA]

| 47.3%, 4

o B45%7F il QU= A2z ZAEIL, 0

ol
<0
0

ﬁ

I.

O
o=

Kr
il

D

o

=QI= HlEt

ot

et 32t Hletel Dot o

1|

O RH|LHolA

t

Tl

ol
Ho

ot 22

=
=

k

-
15 ~ 202 HE 4 ~ 58 LM gE=S 27

e | = =]

AMAE
SO

Moz dgfRl DE

7 M2

ot
LS

L]
Kl

=
1

0|4, ott

(oY)
TTT, =

HlE}

ot
i

2/ AMF 7Ixt

E g
=

Lo &ot 2= &

bs

il

S

HOR XM=

Al Aol A0l= 20|

bREEEH MOICH T8 HIEHR! C2t

<
—

| =
=

S 43

(o]
AN

st S0
O[CE7} XLhofl 2L

= H[EIZI D7t S5
A
Zr,

| 2oz

0] Ao
OfLle} XISz Zlof

=
=
&t
=

FRolE HER Dt

EIICL,

HOHAELC}

)

=0

HO

7o

i HIEFZ D7t &

oI5

il

HIE[ZIO| OBiL} & TlO] S0 ATk

F0/HHA

oF
oF

71 Diabetes

56 =



